ERERE E)\Elﬁu Wk 26 % 4 B 1.8
aF T ] — S i & —

F 12,863 1,462 1,401 W1 TH 92 47| %5 2. &3 b g 22 T4 B
A1 TH l.9| 21 28| Esm2Th 20 10] 10 3 39 FHIAE 1 10) 2|
BaorzTa 28 17| 11 s TR 68 35 33 6 10, K7 ER 3 B
femr i Te 19 3 16 EwaTE 30 12 18 33 [t 18 KF TR 3 3

feEmr2TA 16 8 8 s TR 40 21 19 5] 2 jL 7

Wger L TH - ErmsTH 17| [3 9 4 1 3] =2 1 1
kRer2TH 11]. 5| [ a7 TE 14) 6 8 1 1 K FHETH

[x@ar3 TH 1 1 Rrey 3 TH 45| 24| 21 15 7| 8| KFES 2 1 1
jmisriTE 15 8l 7 jatiTE 30 22 8 21 5 16 = 1 1
liarzTa 29| 19 10| itz TE 24) 13| 11 3] 2 1 F FoIE

lrursTH 3 1 ~ 2 3 TE 33 15 18] 5] 2 3l ‘
ST 1 TH 4 3 1 &taTE 43 20 23 l3Ta 1 1 Eta., " 36| 18 T8 . -
iy 2 TH 6] 6] Iits TE 69 29 40 FX1TH 3] 3 FIEAFR 1 1

hARAT 3 TH 4 1 3 lrits TR 77 43| 34 FR2TH 1] 1 | TG

E#ariTE KFER 2 1 1 P23 TH 7 1 [ kztag

B2z TH 11 9 2 hrixE1TH 10, 7 3] FTER

3TH 8| 4 4 | T 1,004 w.~sz,3_'r;~z,a,1 beirE2TH| 20 9 11 T ATE 33 16} 17

\er 1 TR gr - 2| =23 104) 53 51 [er~m3 TH| 10 6) A =0 U
\HET2 TH 3 1 2 KFRE 65 32 33 t#ELTH 5 | 2 =

N L TH 14 4 10 KFIAT 36 20 16 ELrE2TH 11 5 6 RZHR

Hr2 TH 16 9 7| 1 TE 89 51 338 RUHE3TH 6] 2 A kphich 2| 1 1
RUEr 1 TH N2 TE 93 4 6} 47 fzx1TH 1 1 -

RURr 278 1 1 I3 TE 5 25 33 lnz%278 B | 268 123 _ 14
Ennr) A 3 1 EaTE 15 7 8 ‘ RFOR 36 1 1
=z 78 42 36 x5 TR 95 43 52 T 0 T R s ) T 2 2
sang 40 20 20 e TH 80 41 39 T 2 2 KFHOH :{i 1 2
= 6 2 A T TE 129 68 61 ek TR 2 2
ey 1 TE 317 179 1 38| fxg1TH 8| 4 4 |23y FmEH 5 1
REay 2 TH 139 81 58 {eAE2TH 1L 1 | =T i = 80 30 50
Exr3TH 77 36 41 AR TE 8 4 4 Tt 2 2 KU 2 1 1
FemriTa 115 60 55 AR 4 TH 4 1 ﬂr [ean — 2 2 it i§| 22 2§
Rapr2TH 37 15 22 AT 5 TH 11 3] 8| b = 3 2| 1
amraTH 127 74 53 RIZ1TH 34 1 16 TN 8 .- | .8 . | pk=iusm

Remr4TH 166 96 70 KIR2TH 37 15 22 = kE Rl 5 3 2
FeprsTA 85 43 42 RIESTH 3 15 21 =R :f.l‘ 3| En0] 15 9 é
framre TR 716 64 52 KZ4TH gﬁ 5 3] = 3 3 s rnF 21 3 8]
iz 19 10] 9| RIZ6TH 4| 3] 1 el 2 2 %1 TH :
Ex17R 15' [ 7] RIZ6 TH 55 51 4 peramam 22 TH 1 1

ExzTE 28 14) 14 R TH 16 7 9 3 TH 45 21 24
el 1 T8 5§ 36 20 KRS TH 1 11 7 B %5 28 17

iz TE 156 54 102 _l KFAK 1 1 _| | 24 11 T3
PAGLTH 1 6 5 T 338 171 167 ] 2 2 S

Rs2TH 14 11 3 = 16} 6 10] =ity 2 1 1 T HERL T

RT3 TH 5 1 3 FRAE 162 82 80 kF0H 1 1 FHD 2 2
PRE4TH 3 1 2 = 40 16] 24 KM A 2 2 = 10] 6 4
RE5TH 3| 1. 2 R F R 1 1 = KPR 5| 1 4
RRE6TH 1 1 b o 58 28] 20 KTk A 4 = 1 1

g&1TE 13 ki 3 Wy e 58 30 28 ) 4 2] 2 TR 6 3 3
X2TH 3 2 1 | =] 3 2 1 LT 1 1 kB

Emna 183 82 101 Ty 5 3 2 k¥ Lo

gz TH 126 61 65 s 3 3 =] 21 17| 4

FwmsTa 20 3 14 hermiton 2 2 =I5 5 5

pimnaTH 18| 9 §Y Ry aar _

RiSH5 TH 39 19 20] | Bt 4,879 2,472 2,407

PV



